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1 | B [GERE ) Ef GERES] A B C D E
2 B |=HLOOKUP(B2,$F$1:3K$3,2,0) |=HLOOKUP(B2,$F$1:3K$3,3,0) maES (1001 1002 1003 |1004 (1005
3 E |=HLOOKUP(B3,$F$1:$K$3,2,0) |=HLOOKUF(B3,$F$1:$K$3,3,0) Effi  |2980 3250 1760 |4200 (2360
4 B |=HLOOKUP(B4,$F$1:3K$3,2,0) |=HLOOKUP(B4,3$F$1:$K$3,3,0)
5 A |=HLOOKUP(B5,3F$1:3K$3,2,0) |=HLOOKUF(B5,$F3$1:$K$3,3,0) s |ga st SET=E
6 D |=HLOOKUP(B6,$F$1:$K$3,2,0) |=HLOOKUP(B6,$F$1:$K$3,3,0) A =COUNTIF($B$2:$B$15,F6) [=SUMIF($B$2:$B$15,F6,$D$2:3D$15)
7 C |=HLOOKUP(B7,3F$1:3K$3,2,0) |=HLOOKUP(B7,$F3%1:$K$3,3,0) B =COUNTIF($B%2:$B%$15,F7) |=SUMIF($B$2:3B%15,F7,$D%2:3D%15)
8 A |=HLOOKUP(B8,$F$1:$K$3,2,0) |=HLOOKUP(B8,$F$1:$K$3,3,0) c =COUNTIF($B$2:$B%15,F8) [=SUMIF($B$2:$B$15,F8,$D$2:3D$15)
9 B |=HLOOKUP(B9,$F$1:3K$3,2,0) |=HLOOKUP(B9,$F31:3K$3,3,0) D =COUNTIF($B$2:3B%15,F9) [=SUMIF($B%$2:3B%15,F9,$D%$2:3D%$15)
10 B |=HLOOKUP(B10,$F$1:$K$3,2,0) |=HLOOKUP(B10,$F$1:$K$3,3,0) E =COUNTIF($B$2:$B$15,F10) [=SUMIF($B$2:$B$15,F10,$D$2:$D$15)
11 D |=HLOOKUP(B11,$F$1:3K$3,2,0) |=HLOOKUP(B11,3F$1:$K$3,3,0)
12 A |=HLOOKUP(B12,$F$1:$K$3,2,0) |=HLOOKUF(B12,3F$1:3K$3,3,0)
13 C |=HLOOKUP(B13,$F$1:3K%$3,2,0) |=HLOOKUP(B13,3F$1:$K$3,3,0)
14 E |=HLOOKUP(B14,3F$1:3K$3,2,0) |=HLOOKUP(B14,3F3$1:$K$3,3,0)
15 E |=HLOOKUP(B15,$F$1:$K$3,2,0) |=HLOOKUP(B15,5F$1:$K$3,3,0)
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